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6. TFe EE o84 a o LolB Fatelet

a3 sin z cos tan z
438° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
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16. oF2 I3 o] /A =90° 91 A4tz o] A A of|A HlEHof Y™
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19. o5 H7] 5 A0 gol dia iz &2 A2 27 L8 A
H7]

@ tan46° < tan45°
© sin45° = cos45°

© sin75° > sin 15°

© cos0° > tan 50°

® cos47° < cosT7°

0.6 206 06,6 ®660 606e.06
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27. thg 1Y} Tol Ymepel 7] shyle] 9g 1), o] B9 A ge|
Zolg Fatofet,
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29. WAEe] Zol7} 2vTTem &1 € O oA BN = @ AB 9 CD 9
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33. g 1€lA 90 & 47
ABC ] Widdeltt. BC
16cm, AC = 12cm ©]1 /C
90° o mf, i O 9 ¥tz &

PAE=Xo
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37. o ™3 o] LACB = 90° 91 A7+ 42 ABC 7F qltt. HAH
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HE B sin49°+ tan 30° — cos 48° 2] #HS FLstoi=}.

2tz | AfQl(sin) | R AOl(cos) | EHHIE (tan)
30° 0.6293 0,7771 0.8098
40 0.6428 0.7660 0.8391
41° 0.6561 0,7547 0.8693
4% 0.6691 0.7431 0.9004
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41. o 293 Zo] 478 ABC of| A
BC = 10ecm , AH 1 BC, /ABC =
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AB ©] o BHelA 1 F4u vk A A7 D, C 2 & ),
A B 0] Holi?

2cm

@ (40 — 8m)cm? @ (40 + 87)cm? ® (80 — 8m)cm?
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(DAF = 85°, /ECF = 40° ¥ 1], /DFE ¢] 37|& Fs}o]2},




